O x=2+5H0 I = x>2x+5

@ x o -6 o F2 FFolth. = —6x>0

® x 212 9 g2 2 0l50|th = x +12< -2

@ x 929 &l 4= 0 o] AU FFoltk = 4(x+2) <0

® xGFx+39F2901dolth = x+(x+3)>9



3<a<79M, A< -4a-1<B& 3t} o] u, A+ B 9] 329

@® 10 @ -10 ® 18 @ -18 ® 21






© (8, 12) © (5, 13)
@ (-2, -4)
@ 171 ® 270







— | N
o +
— R
V oo
< Vv
+ 0l
Kl
N =
| o<t
N——

@ 8 ® 9

©Nd



o
a+b9

T
St
=]

@ 4 ® 3 @ 2 ®1

@ 5



4 8 4 24 , =
=AMy = —Sx- 2y = gx_gg}xégigﬁi“}?l FE29]



= 1 ey ey =
9. oh& % ATy = g+ 19 2T WAAL E (5.3 S
Ak 24 919] Ho] obd 727




A x -9y =4 9191 H (k+6, k—6) o]l thato] k gL 3}

@ 7 @ 11 @ 13 ® 15



11.

2] K o] ¥4

6x
o
=

7Ff(=4) =0

B e
= -

~3y+5=02] Tz
ﬂ-ﬁ@-q’a+bg%}\—%



xX=a, X
AHZtE
@ 2

£

—a, y=3,2y+6=029 IH=Z=Z AR
,Fa o] T2 (Ha>0)



13.

3x+by=1

o 3t

275

4
b



o] o] gle , a 9] & okt



15. a>b,ac>bc,ac=08 W, a, b, ¢ G F= EFE F51H?

@D a>0,b<0,c=0 @ a<0,b>0,c=0
®a=0,b>0,c<0 ® a=0,b<0,c>0

® a=0,b<0,c<0



: 70

NECE T
x<b
xX>a

9] 3fl+= x > a oIt}
x>b
x>a L

o] dfj= et
x<b
L o g qin
x—1>-b
X =1] 1—

9] sfi= 17l
x<b



gt Aol 500 ¥ sh= AT 800 Y St AFAES Fote] 13 B
g & FHo] 7500 Y o4 8000 ulgto] [ ASHH 500 ¥

R

1
= o
L 3AE 9 AL A 5 AEA Fopol

YER e



18.

TS dAe y = ax + 1(H, a > 0), y = —2x + b7} ST}
o] T 3] x 0 W917F -1 < x < 20|12 F5gte] W9l EAE.

ol m, b-a2l gh& Ttz

@ -2 @ -1 @1 @ 3 ® 0



19. o= Iz 249 7]&7]E F-otoet.

yl

\

pd

0]

e

T



=7
[17]
H7]
Ty =ax® 2t 7]& 7= A
L, o] dapteEy = ax+ b + k2 YEFE 4= 9ot
. o] dargo] xdHE & 4 gk
2. o] dareto] y HHL2 p - kolth
o, 4 (1, a+b-k)S Adh
D 17 @ 271 ® 371 @ 474 ® 574



ax—3<9
21. AYR5A

—2x+6=>b
7 22 o,

a+b9] 3H& Fotolet

5 L
=%

o] sle} HFA A —4x + 7 = 16 + 2x 2



HEXNB5x—3>a, dx+3<-x-2a 9 7} EAI == A5 a

o] grel W9lE otofet.






A7kl 34 A4 EekE Y

b
H
=
T

"_
el

o
i~

g

o3 O Hn

M o e
= I

A
01
49 71 A3AA
7o) 35 A4 TerE whA et AR 7

| o o] 24 ST 7

~,

4] ¢k

=
=

<0

o

ot

S

[e]

A



ko1
=

kx o] 1| L7} o] 2

Hols Ay



